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(i)  This Question Paper has two Sections- Section 'A' and Section 'B'. -

(i) Attemptall questions of Section'A'. Section 'B' has two options. Candidates are required to attempt
questions from one option only.

(i)  Each question from Question Nos. 1 to 9 has four alternatives - (A), (B), (C) and (D) out of which one
is most appropriate. Choose the correct answer among the four alternatives and write it in your
Answer-Book against the Number of the question. No extra time is allotted for attempting multiple
choice questions.

(i)  IW UA-UT H g @US §- WUE ‘AW UE WU A |

(i) Wug ‘# & @t A¥Al H TA BT &1 Wog ‘T fashen §1 whienfat @ Faw ww fawen & &
e % IW A

(i) S9H WEAT 1 to 9 T o Wedsh WA ¥ W fawew - (A), (B), (C) @ (D) ¥, ™ & va waw waifos
Iuged ¢ ul faeedt # ¥ ®E IW A qur Hut Iw-gfeaer # e " & @me W fer|
Fgfasedt vyt & fora sifafea wwa 78 fqan s

SECTION - A
g ug - A

Which of the following is the cause of depreciation? [1]
(A) Cost of asset (B) Useful life of the asset
(C) Scrap value (D) Normal wear and tear
= ® & w9aT gd T HwRT g7
(A) wwaf 6t @ (B) wwuft w1 Iuant sftaw
(C) crafyre gea (D) ®W & HRUT FEAHTH

Ankita withdrew ¥ 2,000 from business for personal use at the end of every
month during the year 2017-18. The interest on drawings @ 10% will be : [1]

(A) T 1,200 (B) T 1,100
(C) = 1,508 (D) % 2,400
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¥ 2017-18 o SR siferar 3 saferara suzn & fore wfy wg & eiq o sgaema & 72,000
T et fohat| 10% <ht e & SITgIuT WX S4TSR

(A) T 1,200 (B) 1,100
(C) % 1,300 (D) % 2,400

Which of the following is an item of income for a not for profit or gamsatlon?[l]

(A) Specific donation (B) Life membership fees

(©) Subscuonn ‘ (D) Honorarium

= ® | &t W sremweRTdt Wea Y ot Y g

(A) faftire em (B) stita wewgal Yok

(C) =t (D) wrex

Minimum number of members required to form a partnership is : [1]
(A) 2 ’ (B) 7

(C) 10 (3),.20

Teh WIS WH o T3 o T stravas wewdl i JgHan w@ea gt 8

(A) 2 C B

- (©) 10 (D) 20

RO o

On admission of a new partner, amount of goodwill appearing on the asset side
of the old balance sheet will be written off between old partners in their, £ 3 agy

(A) Sacrificing ratio (B) Old profit sharing ratio

(C) New profit sharing ratio (D) Capital Ratio

TA WIHER & Ay W g feufa foawer & wwafy’ W&Iﬁ%@?@ﬁﬁﬂ%aﬁgﬁ
el ® f| erquma o st fefga feram som a7 §:

(A) w&m U (B) 9UHAT &0 Sf&ed STquTd

(C) 7= omw gif ergoma (D) gsft srguma

In the absence of partnership deed, partners will get interest on their capitals :[1]
(A) at the rate of 12% p.a. (B) at the rate of 18% p.a.

(C) at market rate | (D) will not get any interest
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(A) 12% arfées X @ (B) 18% artfiesr X &
(C) IR & _ (D) wig sarst 7@ farer
7. What is not true about a company? [1]

(A) The liability of its members is limited
(B) Its members can transfer their shares freely
(C) The property of a company belongs to the company
(D) It cannot enter into contract in its own name
Teh ShUAT o Tra-" § T T 8 g
(A) 38 Faeai w1 qraca Hiiwa g g
(B) 36 TSI U 3V T FEAT-ALUT AT § & & ¢l
(C) whut &t gufwr Ut i gt B
(D) g Tad & ATH ¥ Udfaar TE & gendl|
8. A company had issued 5,000 shares of Rs. 100 each at a premium of Rs. 10 per

share on which Rs. 30 per share (including premium) is not called. On forfeiture
of its one share for non payment of Rs. 20 per share. The Share Capital Account

will be debited by : [1]
(A) Rs. 100 per share (B) Rs. 60 per share
(C) Rs. 70 per share (D) Rs. 80 per share

Tk Ut 7 T 100 afa & 5,000 stwr T 10 wfer atwr diffem o @ fovo| i o 230 wfa
W (St wfga) A 7€ U] 39 | U 31w W ¥ 20 ufd 31w e 7@ foen W W,
T W TohaT ST A Yol WTa & 9 § fore:

(A) %100 wfq st (B) % 60 ufe atwr
(C) %70 fa atwr (D) % 80 wfa afwr
9. The minimum paid up capital of a private company is : [1]
(A) %1 lakh (B) ¥ 5 lakhs
(C) T 10 lakhs (D) % 20 lakhs
e Fett swot Y =gaan vew gt g 8
(A) T 1 &m@ (B) ¥Svma
(C) 10&m= (D) %20 @@
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10.

11.

13.

14.

State any three conditions when court may order a partnership firm to be
dissolved. [3]

Qﬁaﬁwﬁuﬁﬁmmﬁﬁmmmwm@mﬁmﬁwmwmém
2

What is a Profit and Loss Appropriation A/c? What Journal Entries will be
passed for the following while preparing a profit & loss appropriation Account?[3]

_a) For partner's salary.
b) For interest on partners drawings.

Y g TS @TaT fohd g 8 7 w—aﬁm@m@mmmﬁwﬁw
It e wfafeat & o ?

a) WER & daq o g
b) HTHER! % TG W AT o forg

Apoorva and Manushi were partners in a firm sharing profits in the ratio of 3 : 2.
With effect from 1st April, 2018 they agreed to share profits equally. For this
purpose the goodwill of the firm was valued at ¥ 75,000. Pass journal entry for
the treatment of goodwill on the change in profit sharing ratio. Show the necessary
calculations. [3]

rqat 3R ATt U o f WIS off| ofit T et deaw 3 1 2 o sigum ® vt off|
| ariret 2018, & &g S19 T FEAN IER SET FIATd § I U TgHA & TS| 3 3Ly
%:f%mmﬁ@rwﬁ%wm?ﬁﬂ%ﬁsmmlmmﬁmﬁvﬁaﬁ?m@ﬁ
¥ SraTEuT Y U AT wiafte Hifu| sravaed TUET gIET]

What is Specific Reserve? Give an example of such reserve. State any three
features of this reserve. [5]

fafdrer H=ra @ BT 37 THET U IETENUT GifU| gHeRt wrg i festaedt @ Seei@
el

AB Ltd. purchased a machinery on Ist April, 2015 for Rs. 80,000 by cheque.
On 1st October, 2016, it purchased another machinery for ¥ 50,000. On Ist
October, 2017 first machine was sold at a loss of ¥ 12,000 and purchased another
machine for Z 60,000 on the same date. Depreciation was to be written off
@ 10% p.a. on straight line method. Prepare Plant and Machinery Account for
the year ending 31st March, 2016, 2017 and 2018. A
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u. &Y. fafies ¥ larda, 2015 @t % 80,000 &Y Us Tl wreh g @t 1erereaw, 2016
1 @Y T 50,000 & Tk R AT wldt| 1erreay, 2017 & gy 7T @&t ¥ 12,000
1 71 T A Fan wen v fafyr @y e o Wl 60,000 ® T LTI T
fafer = 10% wfﬁmmﬁm&rﬁaﬂm%l 31wm= 2016, 2017 3t 2018 =t THT Tt
& o wow vg weiadt @At ast|

15. Following was the position of Rohit Aggarwal, a trader as on 31.03.2017 and

16.
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51032008, [5]
Particulars 31032017 31.03.2018
-4 4

Cash L0000 21,000
Debtors 24,000 30,000
Stock 20,000 30,000
Computer 30,000 30,000
Creditors 24,000 22,000

During the year 2017-18, he withdrew ¥ 2,000 per month for his household
expenses and introduced ¥ 20,000 as fresh capital write off depreciation on
computers @ 10% p.a. Ascertain the profit earned by the trader for the year
ending 31% March, 2018.

Afea arraTet, =amar $@ 31.03.2017 iR 31.03.2018 =1 feurfe e e oft:

Trawor 31.03.2017 31.03.2018
4 4

ehs 15,000 21,000

LA 24,000 30,000

s 20,000 30,000

FTOGE 30,000 30,000

FHER 24,000 22,000

=% 2017-18 & 3 T 2,000 TTATE hT ATERUT S0 Te] =t o forg e wer % 20,000
6 72 G oTE | HrgeE W 10% =t = & gre e 1 319, 2018 wt wmr

¥ forn arfta amw &1 fretror Hifsl
AT

Rajeev and Sanjeev are partners in a firm. On Ist April, 2017 their capitals were

% 1,50,000 and T 2,00,000 respectively. Rajeev introduced additional capital of

Z 48,000 on 1st September, 2017 and another ¥ 36,000 on 1st November,
2017. Calculate interest on capital @ 10% p.a. to be credited to capital accounts
of Rajeev and Sanjeev for the year ending 31st March, 2018. ‘Also show in
which accounts this interest on Capital will be shown, if capital of the partners

are fixed? [5]

T



= 19.

18.

Treter 3R Hite Ueh W | "rgegr E1 1 3tde, 2017 @t ekt gt swAvn: % 1,50,000 qern
¥ 2,00,000 off| weftar ¥ | frawar, 2017 st T 48,000 <hr qen 1 Faww, 2017 =t
36,000 @t stfafen gt sgema ® wmg| 31 W, 2018 it HET g4 ATt 99 % forg
10% =nf¥er aX | Tt doT Gite o Yot @Wral & WA g § forg 9 gt ot s 6t
TorT R | Ty # T o gerteu T afe wrgent & gut @ fer g A gst w s fee
@rat § uTET ||

What is meant by fo’r'fe'iture'of Shares? What is the result of forfeiture of shares?
What is the maximum permissible discount at the time of re-issue of forfeited
shares if : [5]

i)  Shares are originally issued at Par.
ii) Shares are originally issued at Premium and premium money is not received.

iii) Shares are originally issued at Premium and premium money is received.

79T o EOT ST AT AR § ? 9T % gY0T T T GROTH et ¢ ? g¥ur TRy g aiut Ry

g: Tt o v § s arelt sifteRan g @ get e

i) 379l ol o ©9 ¥ wEe W TR R @ g
i) ot @ gor w9 A iftem o sl feman wan @ o shfiew i v wea 7 g3 @l
iii) mﬁﬁwmﬁﬁﬁwmm%mwﬁaﬁ?mzﬁﬁimﬁnﬁﬁl

AUAATATCRTRR R

'Vikram Startup Ltd.' forfeited 1,000 shares of ¥ 100 each issued at a premium of
% 20 per share on which only application money of ¥ 40 per share was received
and allotment money of ¥ 60 per share (including premium) and ¥ 20 per share
of call money was not received. 600 of these shares were reissued at ¥ 80 per
share fully paid. Pass necessary journal entries for the above transactions in the
books of the Company. [5]

‘Rrspm weréarm fafies’ % 2 100 wfa & 1,000 eivr &t fert 7 20 wfw stwr difiem w
It fema o, dat R ov sheret T 40 ufa sior smaes wivt @ wrea g8 oft aun 3 60 uid
ator (shifram wwfera) erfaes wfvr ud ¥ 20 e sivr arean wivn wrea 78 g5 ot ed o
foram| = of9tt & & 600 37vit @ T 80 wfer i1 gut wew ga: A o fear | Iures etaAt
T Ut Y G GEART W ATAYIHR TSR Wiareedr ity |
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19.

20.

'Maya Motion Pictures Ltd." offered to general public to subscribe its 15,000
shares of Z 100 each issued at a premium of 20 per share. Amount was payable
as follows : : [6]
L
On application 30 per share
On allotment 60 per share
(including premium)
On first and final call 30 per share

Applications were received for 20,000 shares. Allotment of shares was made to
all applicants on pro-rata basis. Ammu Bhai, who applied for 600 shares did not
pay allotment money. On his subsequent failure to pay the call money, his shares
were forfeited. Remaining call money was duly received. Pass necessary journal
entries for the above transactions in the books of the Company.

‘v T foead farfie’ @ eray 100 i & 15,000 sivt @t R T 20 wie o
Fftra R ST RRaT TET o, WY S WSRO i rfie g SEartee feman| wi¥n @ g
foer g & foRaT T o

4
ATAGH W 30 wfa W
AT W 60 ufa o7t
(shiferem wwafera)
Tuw Td 3o e W 30 wfer efwr

20,0oomﬁ%maﬁﬁmglmﬁaﬁaﬁaﬁaﬁqﬁmaﬂwmmm
| st wrE, fre 600 sivt & forg strae foar e HTEE T T YA el ol Feht |
TR YT AT T BT S AT 7 T IR ST R STod L fora | A v
mwmmglmﬁwﬁﬁmmﬁﬁmmnﬁw
i)

A Company issued 5,000 9% debentures of ¥ 100 each at a discount of 9%.
The debentures were to be redeemed in five annual instalments.

Calculate the amount of discount on issue of Debentures to be written off each
year and prepare Discount on Issue Debentures Al/c for first two years. [6]

wes wuAt 3 7100 wfa & 5,000 9% AT 9% ee W Wi TRyl U U @ wEE Ui
it fergat # femar st ATl
mwﬁﬁwmuﬁa&aﬁﬁaﬁﬁwﬁmmﬂﬁrmﬁsﬁqaﬁ?uwaaﬁ
w1 /0T U TRt |@get @t 94|
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21. Following is the Trial Balance of Amogh online Trading Company as on 31st
March, 2018. Prepare Trading and Profit and Loss Account for the year ending
31st March 2018 and Balance Sheet as on that date. [10]

Trial Balance

s, CE

Name of Accounts Balance Balance

4 %
Stock (01.04.2017) 25,000
Purchases 72,000

Sales 1,50,000
Wages 6,000
Deliverymen's salary 24,000
Insurance 5,000
Office and godown rent 24.000
Bad debts 200

Interest on Investments 500

Commission 1,500
Office Computers 40,000
Sundry Debtors 20,100

Sundry Creditors 30,000
Furniture 52,000
Cash at Bank : 31,700

Capital 1,18,000

3,00,000 3,00,000

Adjustments :

a) Closing stock was ¥ 30,000.

b) Furniture was to depreciated @ 10%.

c¢) Salary outstanding was T 1,000 and unexpired Insurance ¥ 50.
d) Accrued commission was ¥ 300.

e) Provision of 5% for Bad and Doubtful debts was to be made on debtors.

26959582 G64 % [MUAMAMrAD e



= oy i wg e Wt w5 319m=,2018 @t aet ue fean wman 1 319m,2018
1 TUTH T¥ % FTT SR @A UE ey —-gTty wrar sarse aen et fafer @ feufy faawo

FAT3T
TAqeS
am ST
reiciica i o) Iy I
3 4
wete (01.04.2017) 25,000
e 72,000
forsa 1,50,000
Tt 6,000
feeftadt #9 &1 aaq 24,000
=T 5,000
HEte Ta e st Rt 24,000
FHUTH /T 200
s m == 500
HHTIE 1,500
HATAT B 40,000
fafi TER 20,100
faft= SR 30,000
wATER 52,000 :
¥ U Ths 31,700
CSil - 1,18,000
3,00,000 3,00,000
e oy WAV AL TR

a) erfem were % 30,000 @

b) weteR W 10% & TE AT B

¢) erEw aaa T 1,000 qern g& g« st I 50 ol

d) e st 3 300 o

e) FeRl W U Td wipe HOi % frg 5% o SEeT w g
OR/argat
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From the following Receipts and Payments Account of Game Foot-ball Promotion
Club (Regd.) prepare Income and Expenditure Account for the year ending 31st
March, 2018 and a Balance Sheet as on that date.

Game Foot-Ball Promotion Club (Regd.)
Receipts and Payment A/c
for the year ending 31st March, 2018

Receipts Amount | Payments Amount
3 ' 1
Balance b/d 32,000 | Honorarium of Coach 20,000
Subscription : Rent of ground 16,000
} 2016-17 1,800 | Sports material purchased 20,000
2017-18 22,000 | Refreshment 10,000
2018-19 1,500 | Expenses on participation
Entrance fees 2,500 | on tournaments 18,000
Life membership fees 12,000 | Salary and wages of helping
Donations 40,000 | staff 12,000
Fees from participants 16,000 | Miscellaneous expenses 2,000
Sale of condemned sports Fixed Deposit in Bank
material 2,200 | (10% p.a. on 1st Oct. 2017)| 40,000
Sports Authority's grant 50,000 | Balance c/d 42,000
1,80,000 1,80,000

Additional information :
a) Subscription outstanding on 31st March, 2018 was ¥ 3,000.

b) On 01.04.2017 the club had Furniture ¥ 15,000, Television ¥ 20,000 and
sports material T 18,000.

c) Sports material on 31.03.2018 was ¥ 16,000.
d) Depreciate furniture at 10% p.a.

bt s G-64 T[NGO o



i et SHvA Fera (U, ) ¥ e g & wiftd wd T @ & 319w, 2018 w6
TR F1Y et o % fore sta-aa @At waTen qen set freft @ feafa faawor AT

A GEaTe T Fere (. )
cagncReRiucicRein
31 \rd, 2018 @Y THTH B 9T 99 & forg
Putel ; Tfer | yraE LUy
= 8 g 3
oY AT, . 32,000 | == 1 9Hed 20,000
LS uT3+g &1 TR 16,000
2016-17 1,800 |@er |rIft 1 H: 20,000
2017-18 22,000 |sream™ . 10,000
2018-19 1,500 Wﬁmﬁﬁmm 18,000
T e 2,500 |wrarere st w1 A
A wEEdT ek 12,000 |wa wergd 12,000
= ‘ 40,000 |ferrger = 2,000
T & qTeAl | 16,000 | # worg swn(1avargaw 2017
IFUERT WA & WA @ 10% afde ) 40,000
w1 fasea 2,200 |9 3. . 42,000
et TTeffeRtoT g I 50,000
1,80,000 1,80,000

g AURTHARCRTRRIE v

a) 31 7= 2018 @t WA ¥ & forg srgw wiar % 3,000 ol

b) 01.04.2017 =t @e"@ & wr@ % 15,000 &1 wAter, T 20,000 1 TeAfawT ud
¥ 18,000 T Wer T |IHTT AT

¢) 31.03.2018 &1 wet @1 wEE T 16,000 @l
d) e W 10% arfie @ & g6 e gl
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22. Sushmita and Aiswaria were partners sharing profits and losses in the ratio of
3 : 2. On 31st March, 2018 the balance sheet of the firm was as follows. [10]

Balance sheet of Sushmita and Aiswaria as on 31st March 2018

Liabilities Amount Assets Amount

< L4

Sundry Creditors 40,000 Bank 35,000

General Reserve 40,000 Sundry Debtors 32,000

Capital : Stock 38,000

Sushmita 80,000 Investment 25,000

Aiswaria 60,000 Building 60,000
Bank Loan 60,000 Furniture 30,000/ -

Office computer 40,000

Goodwill 20,000

2,80,000 2,80,000

On 1st April 2018 they admitted Manushi as a partner for %th share in future

profits on the following 5 terms :

a) Manushi to bring ¥ 40,000 as her capital and T 20,000 for her share of .
goodwill premium.

b) A reserve of ¥ 1,500 was to be created for bad and doubtful debts on
Debtors.

¢) Stock to be valued at ¥ 45,000 and Investments at ¥ 32,000.

AR A0

d) Depreciate furniture @ 15% p.a.
e) Interest on Investments accrued but not received was T 2,000.

Prepare Revaluation Account, Partners Capital A/cs and Balance Sheet of the
reconstituted firm.

SYOSSR20-Al - Gt B (MMM <o



gufiar Td uyaiEr |rger oft qur ey -gifs o7 seant 3 : 2 & oIqutd | &t offl 31
TT,2018 =t wd ot feafa feawor o gemm & am)

gufar v vyafn @ feufa faawor 319m<,2018 =t

gare T grotat T
3 3

fafim daw 40,000 | &= 35,000
T de 40,000 | fafim ¥R 32,000
LSl e 38,000
gufiar 80,000 | frawm 25,000
Tyt 60,000 | waw 160,000

F% o 60,000 | R 30,000
FTEETE HI 40,000

Tt 20,000

2,80,000 2,80,000

1 atder, 2018 @t IgiA Wt i @At o %m%ﬁmﬁwS‘mﬁmv@aﬂm:

a) = T 40,000 gt % afit T 20,000 Sray Wt it waty shfiew % forg e
b) faftrm Terl w T 1,500 =1 gaq va w@ievy Hont & for yragm w2

c) Ti® & geaiewd T 45,000 wer fFaer @ T 32,000 & 2

d) et W 15% & g8 A 2

e) faf=t w 22,000 = sarwr surlia g T @ @i aw @ e |

HUeaTRT WA, WIEERI & Yot Wid agqr ged wH @ feafa feero ammgu)
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Dayanand and Naresh were partners in a firm sharing profits in the ratio of 3 : 2.
On 31st March 2018 their Balance Sheet was as follows.

" Balance Sheet of Dayanand and Naresh as on 31st March, 2018

Liabilities ' Amount |Assets Amount
4 R
Bills payable _ 18,000 |Cash at Bank : 36,000
Sundry Creditors 45,000 |Debtors 50,000
Dayanand's Sisters loan 40,000 [Stock 45,000
Outstanding expenses 3,000 |Investment 30,000
General Reserve : 40,000 |Furnitures 25,000
Capitals : Land & Building 65,000
Dayanand 80,000 [Office Computers 35,000
Naresh 60,000
2,86,000 2,86,000

On the above date they decided to dissolve the firm.

a) Assets were realized as follows :

4
Debtors 40,000
Stock 54,000
Land & Building 72,000
Investments 36,000
Furniture 18,000
Office Computers 15,000

TR

b)' Bills payable were settled at ¥ 16,500 and creditors at a discount of 10%.
c) Outstanding expenses were paid in full.

d) Dayanand agreed to payoff his sisters loan.

e) Realisation expenses were ¥ 5,000.

Prepare Realization A/c, Partners Capital A/c and Bank A/c.

e s G-64 15 [N ERIAAmy o



TATA 3T T T W | HTHGR & 3 AT oAl seamr 3 : 2 % siuma & & o 31 7,
2018 37ent frarfa foremor fer om:

FaTeg SR T W ety frawo 31w, 2018 @

IgaTy Tty | weata afsr
3 | 2
LRICLES 18,000 | &= # s 36,000
fafirs SR 45,000 | 37eR 50,000|
FATE Y TET H H 40,000 | et 45,000
Tew = 3,000 | Frawr 30,000
T W 40,000 | wefter 25,000
gt afir T wam 65,000
T 80,000 | wTatera wregex 35,000
T 60,000
2,86,000 2,86,000
Iutes Tofdr & 38 & & wwTas @ ok R
a) wtwal ¥ aget g gwr | g
3
3N 40,000
wiE 54,000
afy vel wa 72,000
fafram 36,000
e 18,000
AT BT 15,000
b) JafamEt w1 16,500 F qom SR @1 10% 522 W Faem fear mm|
C) faW =TEl 1 Ut YA W fear
d) FEHE AT T ok PO H YIAW HH ¢ wEwa @ w4
e) ageht =T 5,000 A
T @A, WEIA *® Yo W AT Fo @ dan S
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SECTION - B

@ is - 9
OPTION - I
e - 1
(Analysis of Financial Statements)
(forcfrar feraont =t fergerwD)
23. Name thé two liquidity ratios. [1]
@Y AT SgUTAl <k A G|
24. Explain any two limitations of analysis of financial statements. 4[3]
i frawott & farvetwor ft foRedt < wfmneti =t wwzmzwl
25. Calculate Trade Payables Turnover Ratio from the following information : [5]
x 4
" Cash Purchases 2.00,000 Total Purchases 5,09,000
Opening creditors 60,000 Closing creditors 70,000
Closing Bills Payable 40,000 Opening Bills Payables 30,000
Purchases Returns 9,000
frerfrfan oAt & SR YR arad st @ e i
4 4
RUCEE R 2,00,000 e wa 5,09,000
HRH TER 60,000 arf<w #=ER 70,000
arfem < foa=w 40,000 wafeyres o foo= 30,000
wa qIET 9,000
s Sk G-64 17 [HRNARAMEn e



26. From the following calculate 'debt equity' ratio : [5]

Rs.
Equity Share Capital 3,00,000
General Reserve 1,35,000
Accumulated profits 90,000
10% Debentures 2,25,000
Sundry Creditors 1,20,000
Bills Payable 45,000
T & O FHAT FIUT@ Y TOTAT H{IAT:

4

FHAT AV YAt 3,00,000
q = 1,35,000
wfEd o 90,000
10% swora= ' 2,25,000
fafir eer 1,20,000
27 faux 45,000

TR

27. From the following information calculate Cash Flow from operating activities :

(6]
3

Net Profit as per statement of Profit and Loss for the year
ended 31st March, 2018 2,60,000
Depreciation on Fixed Assets for the year 60,000
Transfer to Reserve Fund 50,000
Dividend Paid 50,000
Goodwill written off 20,000
15,000

Profit on Sale of Fixed Assets

i G641 [[HIUMIMNAARE "€



ssets and Current Liabilities as per Balance Sheets as
Ist March, 2018 were as follows :

31st March 31st March

2017 2018

4 i
2,20,000 2,40,000
1,75,000 1,60,000
2,20,000 2,50,000
1,50,000 1,85,000

ﬁ%anﬁmﬁvﬁam%aﬁﬁﬁargm#ﬁmaﬁﬁq:

31 urst 2018ﬁmw%%qmaﬁ%am%mg@m 2,60,000
zmmﬁﬁwwwmm 60,000
9T 69 ¥ g 50,000
TTRIIT T ST fogra 50,000
Tt sraferfas 20,000
TS weafvet & s uy ey 15,000
31 =, 2017 s 31 ard 2018%1’@%%%%%@%@?@
TIMAT & Ty o
feramor / 31 =7t 2017 /311:1# 2018 /
T T& Tere gowr 2,20,000 2,40,000
3ER 1,75,000 1,60,000
Tl /Tefan 2,20,000 2,50,000
IR 3 1,50,000 1,85,000
>S5ty it LT




OPTION - II
faeeq - 11 _
(Application of Computers in Financial Accounting)

(sFregedt ! ot ST # 3TanT)

23. What is a Work Sheet in Excel? [1]
THIA | qeRviie T T Ao 37

24. Explain any two deductions made by an employer to calculate net salary of an
employee. [3]
mﬁ%g@éwﬁm%mﬁﬁwmﬁmﬁﬁmsﬁmaﬁmﬁﬁwaaﬁ
qasTse|

25. What is a Chart? How can the format of a Chart Element be changed? Explain.[5]
wfer =t T e §7 Gfm reEE % geww § giads foew v | fewar s wedr 27
|qusTsU|

26. Explain the following Work Sheet operations : [5]
a) Movement of cell pointer.
b) Shortcut Menu.
= o vt T=TeEt w GRS
a) IS YU® H1 T
b) e

27. There are certain amounts that are added to the basic pay to arrive at the gross
salary of an employee? Explain them in brief. [6]

FeT % T a7 @ P N v g@ da § $o et wa 6 A § 3T
wag #§ gHeEu|
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